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No. = BEEESZ BRFoEE AR5EEA R5EEEE
1| 5.6.9~ /7= MU= ARt 6t -CO2| 10,450M 62,700
X H)LAR M EVIY-t° AER5S
2 5.6.9 |hiZEEIR(CERES 2t —CO2 11,000/ 22,000MH
3 5.6.14 |Hk=ttsimone 4t —-CO02 11,000M 44,000
4 | 5.6.16 |HIZEERBEGS 10t —CO2| 11,000M 110,000/
5 5.7.3 |EA BETF 1t -CO2 11,000/ 11,000/
6 5.7.3 |&£EHBRMEEI-—TEo(EFS 5t —CO2 8,800/ 44,000
7 5.7.3 |[BwROE—IILEREHR 2t —CO2 8,800 17,6004
8 5.7.3 |BfER CHKRA 3t —-CO2 8,800 26,400M
9 5.8.4 | ttiERES 13t —CO2 11,000/ 143,000/
10 | 5.8.8 |REIRES 1t-C02| 11,000M 11,000/
11 5.8.8 |H/LxIO%kEtt 30t —CO2| 11,000 330,000/
121 5.10.21 Hf;%ﬁ;;:ii%)_)“\ 1t-co2| 11,000/ 11,000M
13 | 5.12.26 |BEIXT Z)LOBRST 10t —CO2 11,000 110,000
14 | 5.12.27 |{bREEEskiatt 10t —CO2 11,000/ 110,000M
15 | 5.12.27 |fIRBARGHNSHT 20t —CO2| 11,000/ 220,000/
16 | 5.12.27 |%kkattBRE/\D>>D 10t —CO2| 11,000M 110,000
17 | 5.12.27 |ttEZEEKN S 20t —CO2 11,000/ 220,000/
18 | 5.12.27 |UpF@Essiatt 20t —CO2| 11,000/ 220,000/
19 | 5.12.27 |%AESHARBE TS 10t —CO2| 11,000M 110,000
20 | 5.12.27 [#RAattEAD 10t —CO2| 11,000M 110,000
21 | 5.12.27 |HRAESHERES 20t —CO2 11,000/ 220,000MH
22 | 5.12.27 [#kattll 10t —CO2| 11,000M 110,000
23 | 5.12.27 |/t EM%R S 20t —CO2 11,000M 220,000H
24 | 5.12.27 |EARESHKRA ST 10t —CO2 11,000 110,000
25 | 5.12.27 ({LRERBRET 20t —CO2| 11,000/ 220,000/
26 | 5.12.27 |BEESHKIESHT 10t —CO2| 11,000M 110,000
27 | 5.12.27 |$lip@ssaRatt 10t —CO2| 11,000M 110,000
28 | 5.12.27 [[BEEEBkRaHt 10t —CO2| 11,000M 110,000
29 | 5.12.27 |(RAattdtiEE/ \OR T 10t —CO2| 11,000M 110,000
30 | 5.12.27 (#RtHimeiEss 10t —CO2| 11,000M 110,000
31 | 5.12.27 |BREHHERIKES 10t —CO2 11,000M 110,000MH
a5t 31 328t —CO2 3,582,700

L2y RNA#EE 1,676t —CO2
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TRk 2 6 FE 1 10t 108,000H HIEMR(CH T D2EMEEE
T2 7 EE 6| 152t| 1,670,760 ETEMICH S DB EEE
T2 8EE 8| 65t 731,160/ ETEMIC B\ DB EEE
TRk 2 OFE 10 55t 623,160H HIEMR(CH T D2EMEEE
T3 0EE 12 72t 806,760/ ETAMICH S BB EE
B 1R 14 sat 937,710/ ETAMICH S BRI EEE
B 25 15 85t 955,350/ ETEHICH S BRI EEE
B3 EE 17| 106t|  1,192,400F ETAMICH S BB EE
SH4EE 38| 339t 3,698,750H HIEMICH T DEIAEEE
a 5t 121 968t 10,724,050H




